King Fahd University of Petroleum and Minerals
Department of Math & Stat
Math 132, Sections 1, 4 (102)
Quiz 2(a)

Marks: /9

Time: 20 minutes

Name: u ,.gi ,Zkéﬁm ” Section #:
ID #: Serial #:

500 .
1. The average cost per unit 1s given by ¢ = .01¢ + T’ where ¢ is total number of

units produced. Find the marginal-cost for 50 units.
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2. If g(z) = %{%, then find ¢'(1).
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King Fahd University of Petroleum and Minerals
Department of Math & Stat
Math 132, Sections 1, 4 (102)

Quiz 2(b)
Time: 20 minutes Marks: /9
Name: ¢ ;"u\ 6 Mm« ” Section #:
ID #: Serial #:
z+3 (z+7)(1 -2
1. For f(z) = o show that f'(z) = /(:ﬁ T

jio= (AT ED) (2
(7 )%

%)"r?——afxb—-—"/x
v//—\

)

<=7 )"
. ( Wb =y) = (DA
S TR
\Ml/f'?)l—_ C‘ +?)
= (=) (xt7)
-
1247 )>
2. Ify=u3+u+1andu=\/5,thenﬁndg—y-\ . s o )
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King Fahd University of Petroleum and Minerals
Department of Math & Stat
Math 132, Sections 1, 4 (102)

Quiz 2(c)
Time: 20 minutes Marks: /9
Name: d }/(7; /,J:\UM " Section #:
ID #: Serial #:
1. Ifz=4y2—2y+7,y=2x——1andx=3t,thenﬁndd—z— .
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9. If the demand equation for a manufacturer’s product is p = m, then find

marginal-revenud for ¢ = 20.
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